63125

First Semester B.Com. Degree Examination,
August/September 2021

(CBCS Scheme)
Commerce
Paper 1.6(B) - M.T.B.D.

Time : 3 Hours| [Max. Marks : 70
Instructions to Candidates : Answer should be uwritten completely in English
or Kannada.

SECTION - A/ 9290 -

L. Answer any FIVE questions. Each question carries 2 marks : (5 x2=10)

035933) BT O ?ujzir{%’ﬁ U3 D2 %301/3053&@5 2 003N :

1. (a) Whatis Bankers Gain?
233,050T 973 H0BTeRI?

(b) What are Irrational Numbers?

eﬂzparioz% 30;3;;1@}0 Belafel SN

(c) Selvefor x; x+3+x=5.

xaqunm: x+3+x=5

(d) 2,6,18... in a GP, find the 6t term.
2, 6, 18... nomeegd Zerdod 68 5083,000%), FORD &ROWD.

fe] If x:3=50:2, find the value of ‘x’,
x:3=50:2 808 x I 233 5086 LBOWD.

(ff  What is an Equation?
ATV H0TBeRO?

(8) What is scalar matrix? Give example.
FLO0° B L3T H0BTERO? 2080 SVTOBTE BHB.
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SECTION - B/ - 8

Answer any THREE questions. Each question carries 6 marks : (3 x6=18)
0359w 8e Baedd BBNRY eu3di. 3 300INT eVZTT, 6 WoTNE

BT 30
E Al Tt I G B S
G2 2
B B 6
3 0 dsﬁ%maw SE.
B2 2

Solve by formula method; x*+3x-28=0.

AP3T 3H0HBOT ZDBVHIT, BBL x2 +3x —28 =0

On a bill of Rs. 10,900 due in 9 months @ 5% p.a. find :
(a) Present Value

(b) True Discount

(c) Bankers Discount

(d) Bankers Gain
o, 10,9007¢ Seaes de. 53 B30T 98one w=DIt woB) BRTodb.

(@) T3 Iy
(b) Q= ZeeB
(c) w3050T Bch

(d) 233,050T el 50E) &ROWD

If 10 Bullocks can plough 12 acres of land in 15 days, How many Bullocks are
required to plough 72 acres in 5 days?

10 o3 12 238 mwaigt 15 Bendd evdsd S»BTT, 5 BINYD 72 28T zsajeﬁwﬂ
GUP) SIBED eTTOHE HBINY ﬁoajﬁabd& F0BY LBOVD.

Solve for ‘x’; (5x+1)(x+3)=3(x+1).

(5x+1)(x+3)=3(x+1) 813, ‘x 'S WS F0RO LWOD.
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SECTION - C/2en - 2

Answer any THREE questions. Each question carries 14 marks : (3 x 14 = 42)
0359 DT TR SARTO 33nort evgdd. J3adeon I3 14 wosnies:

(a)

(b)

(a)

Solve : 2x -3y =19 and 3x -2y =9 by elimination method.
2x -3y =19308) 3x -2y =9 s9oda BB 00T DR :
Solve for ‘x’; 2(7 + x)-10 =16 -2(x - 24).

X B 13 BoBO HBOWO 2(7 + x)— 10 = 16 — 2(x - 24).

The 4th and 8th term of G.P are 24 and 384 respectively, find the 5th term.

rosoe3s Besdod megse 3y dokide Fogkrith 24 B33 384 SATY, Sde Foal,adBy,
OB BBOD.

If the 3 and 6t term of an A.P. are 7 and 13 respectively. Find the first
term and common differences.

0T ABIW0IT Fegdad Soevde =) woPe posdneL FRomaN 7 B3y 13 6@,
8 ARPT030 Feedod Senode ﬁoa.';s 02 mz&mc‘% (3=»T2030) FHYATT) FoBO
HBOWD.

A man spends 30% income for Rent, 50% for remaining expenses.
If he saves Rs. 2,000 p.m. Find the monthly income?

Wy FE 3T Be. 300X, BTabIFY, BN S03) F¢.500R), 8w obI®Y, evE Seirien
WIAET 03 BT 3one euEI0D O, 2,000 $ET, VST IPAT ITSRTIR)?

Find the sum of all integers between 200 and 800 which are divisible by 9.

ﬁoa% 200 Bow 8003RYNS Harie 9008 HPLRS HU IpEHrosny mgsg TOBE
&ROWD.

Find : (i) TD (i) BD and (iii BG on Rs. 600 due for 4 years @ 5% p.a.

dwn. 6000 Do) IRFMY BooRoD Boed Jodrs Be.50 wRoboI. 8 FINTI)NYSY, Toro
&BODD.

() TD (i) BD =03 (i) BG.

Find the Inverse of ; e ’
=35

R
{ 5 8 } T DeHER> SBTR, F0mES &HBOND.
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